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OAA=1.25in,

AB =25in, D
0,B =3.2in.

AC =1.0in.

AD =3.5in.
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0,A =13in, CD =34in,
AB =27in. CE =48in.
AC =28in, DE =19in,
CB =21in, 0:E =23in,
0gB =1.8in, 050 =25in,

0,05 = 1.5in.
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1
3" =I

C
Input
Link 2)
OAA =1in. T, = 40 teeth
AB  =0.75in. T; = 20 teeth
BD =1.75in.
DC =15in,
BC =25in.
0:.C =13in.
O0a0¢ =1.8in. Figure P4.8

4.17. For the geared five-bar linkage of Fig. P4.8, construct the inflection circle for the motion
of link 4 with respect to link 1 and then use the Euler-Savary equation to find the
center of path curvature of coupler point D.



